South Pasadena « AP Chemistry Name 61/20 (o -

Period Date /[
1Matter and Measurement

PRACTICE TEST

1. How many 4. The number of significant digits in 0.30500 is

significant digits are - a) 1 d) 4

present in the ;‘.? ; 215 . b) 2 5

temperature read - c) 3

from the

thermometer 5. A box measures §§9_ cm X ;221_; cm. The 3 S.F,

illustrated to the

product of these numbers = 10.2025 cm”. What

right? is the proper way to report the area of the box?
a) 1 b) 2 @ 3 d) 4 a) 10.20 cm? ¢) 10 cm?
10.2 cm? d) 10.cm?

2. The dimensions of a rectangular solid are 8.00 4 SE 3 sE .3
cm long, 4.00 cm wide, and 2.00 cm high. If 6. The result of 2.350 x (4.0 + 6.311)is, & 4.0
the density of the solid is 10.0 g/cm’, what is its 24 ¢) 2421 10-31 (
mass? Volz LW ¥ H= (p4.0 em 24.2 d) 24.205 3 SF.

a) 10/64 grams d) 320 grams Be cAlEcul WwHEBD 4 o -
LOLTT S'l&u .Fl &S5
b) 10.0 grams @ 640 grams Sq 6,.; >7 A student does a calculation using her

c) 64.0 grams calculator and the number 280.27163 is shown
(o‘{ 0 Wby .’.02% = (qu - = on the display. If there are~ actually three
3. A metal sample weighicng30.9232 grams was significant figures, how should she show the
added to a graduated cylinder containing 23.26 final answer?
mL of water, The volume of water plus the a) 280 %€ #280x102 = . 0280
sample was 24.85 mL. Which setup will result by 2803 4S¥ 2.8() x 107
in the density of this metal? £y 28027 SSF or Q SO, oo
a) 30.9232 x (24.85-23.26) be 3 SP
A 30.9232 vef= 24.25 8. The term that refers to the reproducibility of a
24.85-23.26 il 7'% L laboratory measurement is
24.85—23.26 ). 5 Of precision c) accuracy
) ————— —
) 309230 D " 30 Qi b) repeatability d) exactness
d) 30.9232 x C Y’ .5 = 9) Which measurement below is NOT written

with three significant digits?

o 09232 & 2.00 em @oo03L 3F
24.85+23.26 bYy~550. grams 7127 mm



b.3% ¥ tlo0
10. The number 6.33 x 102 equals,

2) 6.33 (9 633

b) 0.633 d) 0.0633

11. All the following are characteristic properties
of phosphorus. Which one is a chemical
property?

/f Both red phosphorus and white phosphorus
exist in solid allotropic forms.

)9/1’ he red form melts at about 600°C and the
white form melts at 44°C.

})ﬂ’he white form is soluble in liquid carbon
disulfide, but is insoluble in water.

i

When exeosed to air, white phosphorus will
burn spontaneously, but red phosphorus
will not.

12. Classify each observation as a physical or a
chemical property and tally them.
Observation 1: Bubbles form on a piece of

oens
Observation 2: The_color of a crystalline
VWL gubstance is yellow.
@utd Observation 3: A shiny metal melts at 650°C.
oM f)bservati:m 4: The density of a solution is 1.84
g/em

a) 2 chemical properties and 2 physical

metal when it is droBEed into acid.

properties

b) 3 chemical properties and 1 physical
properties.
1 chemical properties and 3 physical
properties

d) 4 chemical propertics

¢) 4 physical properties

13. Chromatography is a good way to scparate the
a) elements in a compound
@ the components in a mixture
¢) the atoms in an element

d) the phases of a pure substance

14. When a pure solid substance was hcated, a
student obtained another solid and a gas, cach

of which was a pure substance. From this

information which of the following statements
is ALWAYS a correct conclusion?
g . o , PISE -y
The original solid is not an element. CougOn™
)~ Both products are elements. 7 masaqlae
_cy~The original solid is a compound and the
gas 1s an element. WA#sq be
) The original solid is an W and the gas
is a compound.
2y Both products are compounds. WA#~ he

15. The prefix “milli-" corresponds to what
multiplication factor?
a) 10° = d) 10° k«lo
@) 10° e) 100 meqa
¢ 10" 7

16. A solution of sugar water may be defined as a
[
a) heterogeneous mixture

homogeneous mixture

¢) heterogeneous compound

Look.S Like one
?M.se

d) homogeneous compound
e) homogeneous element

¢ be A



17. “Wafting” is the proper technique for Answers: (Please use CAPITAL letters)

a) neutralizing a spilled acid. L B | EL| X
b) putting out burning clothing. z| B | '
¢) washi'ng chemicz.ils from the eye. 3 & 13, 5
smelling a chemical substance.
¢) observing the color of a chemical. “.| & 14| A
5 5 15. [b
18. You measure the density of a slab of lead as
11.10 g/mL. The accepted value is 11.34 g/mL. 6. B 16. &
The percent error for your measurement is
(21 % & 370 LWl wai-wio) 57| € | 17| D
b) 2.4 % d) 5.1% “u:"( .| A | 18| A
(f_ s.e. ) %|C | 1B
19. Which one of the following elements is 10.| < | 20. D

correctly matched with its symbol?
a) Ag,getd” S lwre

(b)) Ni, nickel

\,//;; FL, fluorine F— wot FL sippo
d) Mg, manganese W\A?MSIU“'
e) H, helium  |le

20. The marks on the following target represent

someone who 1s:

a) accurate, but not precise.
b) precise, but not accurate.

¢) both accurate and precise.

neither accurate nor priiise.
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